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SHARE THE TREASURE 2 
Captain Salamander and his crew have found 24 bars of gold. 

His three crew put the bars into 4 equal piles (one pile each for them and 

one pile for the Captain). 

How many bars are in each pile? __________________________ 

 

 

 

 

But the Captain decides that everyone should have a different amount.  

• The Captain should have the most bars. 

• Bert should have 2 fewer bars than the Captain. 

• Barry should have half as much as the Captain. 

• Bill should have at least as much as Bert. 

Can you share out the treasure how the Captain wants? 

Captain Bert Barry Bill 
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SHARE THE TREASURE 2 ANSWERS 
Captain Salamander and his crew have found 24 bars of gold. 

His three crew put the bars into 4 equal piles (one pile each for them and 

one pile for the Captain). 

How many bars are in each pile? There are 24 ÷ 4 = 6 bars in each pile. 

 

 

 

 

But the Captain decides that everyone should have a different amount.  

• The Captain should have the most bars. 

• Bert should have 2 fewer bars than the Captain. 

• Barry should have half as much as the Captain. 

• Bill should have at least as much as Bert. 

Can you share out the treasure how the Captain wants? 

Captain Bert Barry Bill 
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6 bars 4 bars 
 

6 bars 

 


